ERRKRDHES

ERT—IN—2IBISH—F

202318228 (B) 1@94L1I8H

R EESE R

‘ [Xf&] 2

‘[%Eﬂﬁﬁaﬂ - 220000 R

[AE%] 17%:6,200,000 § ~ 237&:2,500,000 M / 3&:

1,600,000 §  4375:930,000  ~ 53&:620,000 A

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
/13—y~ 4 3 | HELLES 2:05.7 8-7-6-6 | 34.8| 83.1 | 2 468 | FRER ()
117|13)E9¥b—>3Y 5.0 ) ) |.@ #aL=2Kr-2
RIN=YITS54A4 B:IF7—R5T #HBEI77—LA
. _ B3 | ABHESR 2:06.0 3-3-3-3 [35.479.9 | 1 54 | BAE (EH)
217)14|F—ILTI—b 5.0 1172 (o) W eSn - TU—5—2 - 1=F
RIIET7RA7 BIIVTFRU—-X ke
S it 3 | EREAR 2:06.5 5-5-4-3 |35.8| 74.0 | 7 | 412 |BAE K@)
318l15| 739 VEF—T 54.0 ?) (=) ﬁﬁﬁgﬁwbﬂ
RPN/ TSYY BYVIFRTVR J=HUT7—L
» st 3 | SRERA 2:06.7 4-4-6-6 | 35.9| 71.5 | 15 | 454 |RURE (H)
4817|477V I7 8.0 a 1/4) ) W JZEWR
RDITPYRAVU— BHSYIFZT7 #iat /—RelLX
= Pl&EX :06. -7-8- . . LRI\ (GER)
spd 4| YT/ TSY R = S I R Rl IR el 7
R:Id=ILRFPI9— §:¥4./330 FSAVEYRT7—L
oy IS ER > : S t*I]EEE‘Z (/)
615]g|/f97—x 4 3 o 2(70?:)7 2-2-2-2 | 36.4] 66.6 | 16 (414; 0
R/ 059Y B:xUTzv b EP?MSZ%
- — 06, 1088 |35.7| 71, PEEY ()
- 1| TFAF4—3 4t 3 Bk 2(10/62)8 11-10-8-8 | 35.7 | 71.8 | 4 (43(; B
R:VvRIVTA B HAVE—F ?iff?j/—A
—1y~7 s 3 | RHBE 2:06.8 8-9-8-10 [35.7| 71.8 | 5 500 | EEPHfE— (GE)
8l11/1 U>o7— 540 N\F) (-) |NTED
XR:O—KkAHxrO7 EU’/T Uz HEI7—L
W R 3 | NERBE 2:06.9 14-15-15-13| 35.0 | 71.1 | 9 | 444 |HHER &)
9|5/10| LY FILFT T 0 (172 o | @ mER—zL-vv7
RIVZIWATF 4= B:N\vE—/INDF— LIP3
3 <, sy ZEEA :06. -5-4- . . P2 = IANE 7))
TN—IVITILA w3 BR Do | TR0 e s K
RIN—EVYIv— B:FUITI—RI— IHNZT7—L
S~ P NS ) R t 3 | KEPERE 2:06.9 16-16-16-13| 34.8 | 71.2 | N 456 | AE—H (55H)
VIH-ANT YR * %55.0 @) (—) | B IREI1-T7—L
R:FIIYNS—R B:vAY=21—-2X ARET2—T7—L
. S o RS : -12-11- ==V IVNo A ES::)]
BI7—FS59y 3 Ze 2(.10/72.)0 12-12-11-11| 35.6 | 69.8 | 8 (532) #’é}
RIET7RAT7 B:ITSvIVITFUS ®I B
o, = sy FR—18 :07. -13-14- . . HeER (E/)
URUFAI— 4 3 R 2(70{:; 14-13-14-11| 35.3 | 68.9 | 14 (453) ses
RAWTT—II BURYT4—ILR PR
= R :07. -10-11- . . HSHRIE /)
MFF it 3 e 2(707t; 8-10-11-13 [ 35.6 | 68.8 | 13 (484; %a
R:N—EVIv— B:EFZIIA) (ﬁ) #HBEI-RL—YavEEIT 7
‘b B3| AIES 2:07.2 1-1-1-1 |37.0| 57.8 | 10 | 478 |XEEB— E&H)
vJov £54.0 (172) (=) |. @ EvILyRIT7—L
RTINS —R BINAFILT 1 —2 kS e
= = s 3 | MAE 2:07.6 12-13-13-13| 35.9 | 63.9 | 12 | 434 |/\ERRER (GSH)
TA4LZS 54.0 2172 (-) |BEES
RPN/ FTAVEYR BIEFFITU—R REFHUS
YYo= VUTILY—L 4 3 Q%IE 2:(075).7 16-16-17-17| 36.5 | 52.1 | 17 (435) %ﬁ%@b (=8
R:O3947 B:YIZUFPRANUT FREEBUS
[ BN
Eh' 47.8-35.5
NOVF AL | 12.9-11.5-13.8-13.1-13.6-13.0-12.3-12.2-11.5-11.8
@ 11— —BBIEfI
13—7— 16-9-14,17(3,4,15) (1,11,13)12(2,7) (5,10)-(6,8)
20—F— 16-9-14,17(3,15) (4,13)1(11,12) 2-(5,7) 10- (6,8)
30—7— 16,9,14(3,15) (17,13) (1,4,12)-(2,11)7,5,10,6,8
40—F— (+16,9) (14,15)3(17,13) (4,12)1(5,2) (6,11,7,10)-8
o ILRE
B B 13 370M4 JA R 13-14 320 & 7-7 730M4 3JEE | 13-14-15 3,200
g B 13 160M 13-15 1,080 5 & 13-14 660M 3EE | 13-14-15 15,010
14 160 14-15 8604 =51 13-14 1,300
15 350/
ABCDOVTIRHTERERRODDZ, THERAILZETL




